KENDRIYA VIDYALAYA SANGTHAN HYDERABAD REGION
SOCIAL SCIENCE (CODE 087)
CLASS X (SET-1)
PRE-BOARD EXAM-1 (2024-25)

Time Allowed: 3 Hours Maximum Marks: 80

General Instructions:

1.

The question paper comprises Six Sections —A, B, C, D, E and F. There are 37 questions in the
Question paper. All questions are compulsory.

Section A- From questions 1 to 20 are MCQs of 1 mark each.

Section B - Question no. 21 to 24 are Very Short Answer Type Questions, carrying 2 marks each.
Answer to each question should not exceed 40 words.

Section C - Question no. 25 to 29 are Short Answer Type Questions, carrying 3 marks each.
Answer to each question should not exceed 60 words

Section D - Question no. 30 to 33 are long answer type questions, carrying 5 marks each.
Answer to each question should not exceed 120 words.

Section E - Questions no. 34 to 36 are case based questions with three sub questions and are of
4 marks each. Answer to each question should not exceed 100 words.

Section F - Question no. 37 is map based, carrying 5 marks with two parts, 37a from History (2
marks) and 37b from Geography (3 marks).

There is no overall choice in the question paper. However, an internal choice has been provided
in few questions. Only one of the choices in such questions have to be attempted.

In addition to this, separate instructions are given with each section and question, wherever
necessary.
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. UY U § % WS §-A,B,C,D,ERFI UY UF H3794 g1 It uy ofFard g
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W& C-TY T 25 20T IR TY 8, UAH 3 3{F &1 ¢ UAD UY HT SR 60 Tsal
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WS E-UY T34 Y36 Th HY AMUTRA U g, S0 7 ST UY § 3R UIP 4 3ih &I

gl Ud® UY T IR 100 Vea) I 31 =gf g1 =gl

gSEF-U%r T 37 AT SeTiRd 8, e & YW 8, 37a 38T ¥ (2 3f) 3R 37b Yid
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SECTION - A: Multiple Answer Questions (1x20=20)

Match the column 1 with column 2 and choose the correct options from the
following

Column-1 Column-2
(Leader) (Role)
A Victor Emanuelll I Chief minister of Italy
B Giuseppe Mazzini Il Young Italy Movement
C Giuseppe Garibaldi | IlI Helped in Conquering the Kingdom of
two Sicillies
D Count Cavour v Proclaimed as the king of Unified Italy
(a) A-1, B-IV, C-lll, D-IV (b) A-1V, B-Il, C-lIl, D-I
(c) A-1l, B-I. C-IV, D-1lI (d) A-l, B-1V, C-II, D-llI
HIaq 1 ® diaq 2 I e iR Fofaled § 3 98 e o
DlcH-1 DIcH-2
(Fe) ()
A | fdeeR T || gedt & gerest
B | =y Ao Il | gar sl 3fIeldH
C | gy st | @ Rl & IErs & Siildd § ddg
Gl
D |$idcPhdR IV | Uebldpd el 1 ST Hifbid fobar
(a) A-l, B-IV, C-lIl, D-IV (b) A-1V, B-II, C-lIl, D-I
(c) A-Il, B-1. C-1V, D-llI (d) A-l, B-1V, C-II, D-llI

Arrange the following in the sequence in which the events occurred:
1. Chauri-Chaura

2. Khilafat Movement

3. Second Round Table Conference

4. Civil Disobedience Movement

Options:

(@)1, 3,4,2 (b) 3,2,4, 1
(c) 4,3,1,2 (d)2,1,4,3
fFufaRad & e & ®H 7 Jaud e

1. IR-ART

2. fQawa e
3. QIR MoHe qHeH
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4. GioTg 3fas sfiqia

fawey:
(a)1,3,4,2 (b) 3,2, 4,1
(c)4,3,1,2 (d)2,1,4,3

Statement I: The silk routes are a good example of vibrant pre-modern trade and
cultural links between distant parts of the world.
Statement Il: Trade and cultural exchange always went hand in hand.

(a) Statement | is correct and Statement Il is incorrect.
(b) Statement | is incorrect and Statement Il is correct.
(c) Both Statements (l) and (Il) are correct.

(d) Both Statements (I) and (ll) are incorrect.

Y1 @ A0 AT & R-aX© & o & &I Siidd ga-3MyHd AUR
3R Uiplas Teel &1 Th 3BT Iae 3|
FYTII: AR 3R IRPIID SEGH-UGH FHRM Y- Tad o

2)PYTITE! § 3R HYT 1T g
b)asar:rmaa T 3R HUF I 7
) P
) P

c (1) 3R (i T T §

(
(
(
(d (1) 3R (1) &1 T €

Europe’s poor began to eat better and live longer with the introduction of-

(a) Potato (b) Corn
(c) Spaghetti (d) Rice
(d)
¥ RIS 7 g IET WHT E FR 37 iR dd 0 aF o1 &
o fear
(a) STc] (b) HEDT
(c)@'ﬁﬂ (d) d1dd

Identify the incorrect statement from the following:

(a) Alluvial soilis also found in the eastern coastal plains particularly in the deltas
of the Mahanadi, the Godavari, the Krishna and the Kaveri rivers

(b) Black soil is ideal for growing cotton and is also known as black cotton soil.

(c) The forest soil develops under tropical and subtropical climate with alternate
wet and dry season.

(d) Arid soils range from red to brown in colour

fRufeRad A T Tad HY= P ugaH:
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(a) STelG ST Yal qehd Aam! o= HeT-al, Mera, W 3R BIRT Aleal &b
Seereft § Hf uTs STl 5
mm;qu&m&m%WQWWﬁ@%Wﬁlﬁ
ST ST

() ST @1 gt dapfete T SR Y HiIH & 1Y IWIHC e 3R
U ies g Siaarg & ded fabiid gl 8

d) X HET &1 11 a1 YR HT 81 §

There are two statements marked as Assertion (A) and Reason (R). Mark your
answer as per the codes given below.

Assertion : Chotanagpur plateau region has the maximum concentration of iron
and steel industries.

Reason : The iron and steelindustry is called basic industry.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is correct
explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true and Reason (R) is not correct
explanation of Assertion (A).

(c) Assertion (A) is true and Reason (R) is false.

(d) Assertion (A) is false and Reason (R) is true.

7 @ By R TTU § | 3ifiieed (4) IR SR (R) | 31 HYH 1 URRT iR T
fdeh el &1 I8+ BT |

AfUBHYT (A): BICFFTR TSR &7 H el 3R W1 IR &1 fIsad
AP0 7

|
PRUT (R): AET 3R W I B! G I Hel ol g

&rf‘u?m A) 3R HRU(R)GH! Id § 3R BRI (R), HUT (A) BT Tgt
BuT@JT |

b) 3fFHYT (A) 3R HRUT(R) S TT & 3R BRI (R), ATHBYT (A) BT Tg
6&1@13‘@%

c) ATUBYT (A) T & 3R PRUN(R) 3T g

d) 3FHBYT (A) 3T § 3R HRUI(R) I B

Following image shows new laws that were made in Russia in 2005 giving powers
to its President. During the same time the US President visited Russia. Study the
given picture and answer the following question.

5 o =9 #2005 ST T U S DI SR 8, & ISP AFURT Pl
YAl UaH PR §l I aRM SRS APUfd 7 F9 1 R fan fw
T @1 siemgd Y SR FAafaRed gy @1 IW I
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Nesgnrng Nevas

Which among the following statements appropriately describes the given picture?

a. Despotic rulers do not leave much scope for power sharing.

b. Democracy can help in division of powers.

C. Concentration of powers in one hand helps to make quick decisions.
d. Concentration of power under one centre undermines the concept of
democracy.

fFofafea & 9 &9 91 syF Ry v fom &1 IR auf= HRar g2

a. "R IS I & dcar & oy 3ifde s 6! sied|

b. Apad WfFTdl & fau™H H Aeg HR Jobdl gl

c.Th B § Nfaaal &1 Jbgul aRkd ol a4 § Aee &l ol

d. TP Hg &b ded Il BT JHgUl Aldbdd bl ATYRUN B HHIR Pl gl

Which demand of the Sri Lankan Tamils was repeatedly denied?

a) Their demand of separate slectorate

b) Their demand for freedom of expression.

c) Their demand for the right to vote.

d) Their demand for more autonomy to provinces populated by the Tamils.

(
(
(
(

fidprs aftrdl ot i A & TR-SR THR fear mr

@) QU® Farae &9 & IAPt Al

@) AfNeafad &I adaal dI Ib! H

M HAdGH & MUYPR DI IADT AT

q) Al P IMEIE] dTd Uidl I 3w Wraddl ¢4 P 39Dt Jil

(
(
(
(

Conservation of forest is the key to the survival of human mankind. Some of the
practices undertaken in India in this direction is joint forest management.
Identify the correct information related to joint forest management.
I. Itinvolves local communities in the management and the restoration of
degraded forest.
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IIl.  The programme has been informal existence since 1980.
lll.  Jharkhand passed the first resolution for joint forest management
IV.  The members of local village communities are entitled to intermediary
benefits like non timber forest produces.
Options:
(a)land Il only (b) land Il only
(c)land IV only (d) lll and IV only

g1 BT WU AT S & 3T @) Hoil g1 39 foun & yrd & s
M dId $© UUTE dgad 99 UeeH gl
WWWW@W@HWWWM qgd|
Y AY gU o & U OiR ARt § W wHeEt @l
it T T gl
Il. T8 HIHH 1980 ¥ SHIUAING w0 ¥ 3@ ¥ gl
N, YRWS A Igad 99 Y&y DT Ygdl WRard ik fobar
IV, Rﬂ‘rﬂugm Tl & 9e IR ddhel - 3IUS o AR Y &
gPhaR ol

(a)had | 3R I (o) Pad 11 3R Il
(c) Had 13RIV (d)Pad 11l 3R IV

10

Which one of the following options describe ‘Coalition’?

(a) Power usually changes between two main parties.

(b) Several parties competing to win elections and form the government.
(c) An alliance of several parties to form the government.

(d) None of the above.

fFofafed & 9 o9 91 [Abey ey BT qui- Hal g2

(a) ORI SMHAR R & T &al & §d geadl gal ol

(b) T SfiaH 3R WPHR §9H & U Hs gl & s ufawgef]
(c) NBR T & U &3 adl &1 ToaeA|

(d) SRIFd # F Pl Tall

11

Consider the statements given below and choose the correct answer.

Statement I: A communal mindset can lead to efforts to secure political influence
for a specific religious group.

Statement Il: Members of the majority community may seek to create a separate
political entity as a response to such dynamics.

(a) Statement (I) is correct and (ll) is incorrect.

(b) Statement (l) is incorrect and (ll) is correct

(c) Both (I) & (II) are incorrect

(d) Both (I) & (ll) are correct
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I3 R F R AR &% SR g ST |

Y |: YIRS ARSI U ATy it 99 & e Ieifas gua &
RI&A B & YA DI SFH G Ihell 5 |

HY |I: TGP TSI F G Ut ifcreiierar o) ufaferar & =u & U 3rem
TSI ST T B! BIRAA B AHd & |

(a) BUF (1) Te1 § 3R (1) TAd G| (b) B (1) TTeTd B TR (Il) Bl &
(c) (1) 3R (11) T TTeidl & (d) (1) TR (1) T R §

12

There are two statements marked as Assertion (A) and Reason (R). Mark your
answer as per the codes given below.

Assertion (A): Democracy are based on political equality.

Reason (R): All individuals have equal say in electing representatives.
(a) Both Aand R are true and R is the correct explanation of A

(b) Both A and R are true, but Ris not the correct explanation of A

(c) Aistrue, butRis false

(d) Ais false, butRis true

o 3 pu= RU T 7 | 3ifiiepy () 3R BRI (R) | GF YU 1 T 3R Tel
e et T I8 Hifvr |

AfUPYA (A): Aipaa JoHIfde FAFT W 3MeTlRd gl

PR (R): Ul & g & 9ot safaaal & 9uE YfieT gkt ]l
(a) ASIRRGHl IT & 3MRR, ADT JgI WHIHT g

(b) AR REH! ¥4 &, AfPTR, ADT TgT WHR 8l §

(c) AT B, AfP-TR 3T B

(d) A3 §, APTRIT B

13

Which of the following statements is not true about Democracy?
(a) People wish to be ruled by representatives elected by them.
(b) Itis free of corruption.

(c) Itis expected to produce good governments.

(d) Guarantees rights of citizens.

dipad & R A Fgfafad # 9 o9 91 sy 99 781 87
(a) AT 309 gRT g1 TN Ul grT =mfyd 81 918d g
(b) T8 YPER ¥ TH &l
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(c) 3T 3B WBR &1 B IAIG Bl ol o
(d) TR} & 3SR} Bt MRS & B

14

“Democracies often struggle with economic inequalities, with a significant portion

of wealth concentrated among the small segment of the population, despite being

based on political equality”. Which statement best captures the dilemmma faced by

democracies regarding economic inequality?

(a) Democracies are successful in eliminating economic inequalities among their
citizens.

(b) In democracies, economic growth automatically leads to the equitable
distribution of wealth among all citizens.

(c) Despite political equality, democracies face challenges in reducing economic
disparities and ensuring equitable wealth distribution.

(d) Economic disparities do not exist in democracies due to their inherent
principle of equality among citizens.

-~

"Apad SRR AMF ST ¥ SFId 8, IoHITdd JHHAT R H1emRa
B & SIAv[e, U BT Th AUl 3Rl 1&gl & B¢ R & ol diad
gt 31 Faffa Ao a1 oy ofife sumdr & Ioy & diddal &

b Eﬁ%ﬁ‘rﬁ,sﬂ% [y Warfad 9 ¥ 9t 9MRal & o9 o7 & 909m
fIaRor ®t 3R o S B

c) SIS THH & d1a9G, Azl &1 S SHAMIST & HH HRA
3R THF ¢ faaRor gAY o=a & Ffaal &1 I S TSl g
d) TRDT & s FHAT & fdHied Rsid & RO el H e
SRHFAN Hielg T8l gl

/-\

15

Suresh’s weight is 79 kgs and his height is 1.54 meters. In which category can we
place him from the following options?

(a) Normal Weight (b) Overweight

(c) Underweight (d) Obesity

I HT o 79 frarmd g iR 3@ Hars 1.54 Hiex g1 Fgfafad
el # ¥ g9 39 fou 3oh & @ T 72

(a) I deld OEIREECEE

(c) P doH (d) AleTa

16

Which one of the following is not a developmental goal for the landless rural
labourers?
(a) More days of work and better wages.
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(b) Local schoolis able to provide quality education for their children.
(c) There is no social discrimination.
(d) They can not become leaders in the village.

frofafed # @ oF @1 Y i awRl & e e deg T8 82
a) B & WAl fad 3R dgaR AWG|

b) MG WA 396 F=i &I uiaayul e vem &= § 9&W 3l

)

)

c) P FMHISD HGHIT Tl gl

(
(
(
(d) d Td H AdT 78 §9 I&hd |

17

Complete the following table with correct information and choose the correct

option.
ACT FULL FORM PASSED IN | MAIN AIM
THE YEAR
MNREGA | Mahatma Gandhi National Rural A-? B-?
Employment Guarantee Act

(a) A-—2000, B -to enhance the livelihood security in rural areas by providing at
least 100 days of wage employment in a financial year to every household whose
adult members volunteer to do unskilled manual work.

(b) A-2005, B-to enhance the livelihood security in rural areas by providing at
least 100 days of wage employment in a financial year to every household whose
adult members volunteer to do unskilled manual work.

(c) A-2010, B-to down the livelihood security in rural areas by providing at least
100 days of wage employment in a financial year to every household whose adult
members volunteer to do unskilled manual work.

(d) A-2015, B-to enhance the livelihood security in rural areas by providing at
least 100 days of wage employment in a financial year to every household whose
adult members volunteer to do unskilled manual work.

ffFEH | quiwy 9 fora T
gffam aid | I
foar mar o
TG et e g | A-? B-?
ISR TR

(2) A~ 2000, B- Wtrh—omﬁwﬁ?ﬁumfﬁmﬁmmoﬁ:ﬁm

da ASATR USH B TTHI &3 T HTSiifden] e M & ﬁvﬂq ERCY

TG oW AP IRING HH HA & [ WS I S Hd ¢
(b) A—2000, B - Ud® URIR &I U faxig o & &0 T &HH 100 fe1 &1

39 AR UM S T &3 & SfTeiifad] JRem deH & forg, o d

TG Yo AP IRING B HRA & o WS § HH Hd ol
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(c) A=2000, B- Ud® URAR &I T foxita o # &7 4 &9 100 Al &
J ISR UaH HRp ATHIOT &1 T 3MIoiifdd] JR&M DI HH HA1, o d
TG Yo HA IRING FHH A & AT WD § HH R g
(d) A—2000, B- Ud® URAR &I T g o & 7 T A 100 i &1
Ja9 AR UM S JHI00 &1 & SfTSiifadbT JRem deH & forg, foH b
TP G HHA ARIND HIH B & [T WDT § HH I g

18

Arrange the following in a chronological order.

(1) Interestrate of loanis 8.5% per annum.

(i) Shyam applies for a credit.

(ii1)) Bank agrees to keep cold storage receipt as collateral.
(iv) Terms of credit is signed by Shyam.

Options:

(a) (ii), (i), (iii), (iv) (b) (iv), (iii), (i), (ii)
(c) (ii), (iv), (i), (i) (d) (iii), (iv), (i), (i)

fafiiad & Sragste H0 § Jarid s

(i) 0T Bt S R 8.5% Ufd a9 2|

(ii) T $ge & T 3mde Frar gl

(iii) 9 PIce TR Wig ! Juiifr & *0 & W & fow Igad g
(iv) HfEe B T R W gRT §WER By 1T |

faweu.

(a) (i), (i), (iii), (iv) (b) (iv), (iii), (i), (ii)
(c) (i), (iv), (iii), (i) (d) (iii), (iv), (i), (if)

19

Rajat is a small-scale entrepreneur who wants to expand his business by

purchasing new machinery. He is considering borrowing money from formal credit

institutions. How do formal credit institutions like commercial banks differ from

informal sources of credit like money lenders?

(a) Formalinstitutions charge higher interest rates.

(b) Informal sources require collateral, while formal institutions do not.

(c) Formalinstitutions follow standardized procedures and charge lower interest
rates.

(d) Informal sources offer larger loan amounts compared to formal institutions.

o Th Y I € off T3 AR Wigax 30 a9 &1 fGdR &

Al 81 98 SNUAIRSG hfge TRIM T U IUR a4 R faaR R T 3

IS dF S SNUaRe HU TR AEGR o9 B & UG Frdl
¥ f5g yoeR e 22

(a) SNMURE TIH I &N &Y Yad gl
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(b) 3FTEIRG Aidl B Ui B} MaRgdhdl gl g, a3
el A e

(c) NTAIR® TR AFBIHd Whars &1 Ta- Hd g AR HH AN a3
T €|

(d) SFTAIRG Hd SUaRe TRIFE! St JaT & I8 BT AR B B
CGR

20

Which of the following factors significantly contribute to the process of
globalisation?

Select the correct options.

1. Expansion of Multinational Corporations (MNCs).

2. Advancements in information and communication technology.
3. Nationalisation and trade barriers.

4. Cross-border movement of people for shopping.

Options:

(a) Statements 1 and 2 are appropriate.

(b) Statements 1, 2 and 3 are appropriate.

(c) Statements 2, 3 and 4 are appropriate

(d) Only statement 3 is appropriate

fraffed & § o9 9 ®R® dfiexu 31 ufshar § AedqUl IReM ad 82
el fawed |

1. 9gS (Al (AT &1 fadR|

2. I 3R R Wit § At

3. 3R UR S|

4. & fau al &t W1 R Smag!
faweu:

a) HYT1 3R 2 UG g

b) HYUT1, 2 3R 3 I g

c) HYT2, 3 3R 40 g

d) Pad DY 3 IUGH ©

SECTION - B: Very Short Answer Questions (2x4=8)

21

Why did Gandhiji support the khilafat issue? Give the main reason.

Tiefsh 7 faaea ge &1 wHdE @ fhar g1 sR 9d15d|

22

Resource planning is the widely accepted strategy for judicious use of resources.
State two examples which explain its need.
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OR
What are the aims of Agenda 21 to achieve global sustainable development?

T o WYl & fadeyul SUNT & fU e FU 4 Wipd
JUHIA 81 & IS0 §aTd Sl 39! ATILIHdl Hl WY Hd g
YT

Iy Tad e 1R B4 & fou ToisT 21 & I 1 82

23

Mention the provisions that constitute India into a Secular country?

39 UIGYT BT IwRd B of YR Dl Th YHRUS X 10 872

24

How has globalization effected employment patterns in India?

I BT URA H ISR T &l 3 yHIfad fparg?

SECTION - C: Short Answer Questions (3x5=15)

25

Explain the different stages of unification of Germany.

OR
Explain any three measures introduced by French revolutionaries to create a
sense of collective identity among the French people.

SHA & THIHRU & fAfie TRON B TR B
3Yar

IR @ & o e UgaT ®1 HIaHT Ual B3 o T8 IhIT hifaaIial gRT

IR [PU T foregt i Surdl & sarem |

26

Differentiate between conventional and non-conventional sources of energy with

examples.

JeTERU Ofied URUR® 3R TR-URURS SHoll Fldi & S 3 Y B |

27

Describe the threefold distribution of legislative powers between Union
Government and the State Government.

Y PR 3R I PR b o1 [Furh zifeaqat & Heaia faaror o1 gui 3|

28

Explain any three main aspects of measuring Human Development Index
according to UNDP Report of 1990.
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1990 Pt guAedt RUE & IR AM4 9™ Yaois A9+ & gl dF
U™ Ugqsl &l ARSAT B

29

How does the Public Sector contribute to the economic development of a nation?
Explain.

e & et Ay & onffe fawra & 5w yeR deF &t 82
REEIE

SECTION - D: Long Answer Questions  (5x4=20)

30

How did Non-Cooperation movement start with participation of middle - class
people in the cities? Explain its impact on the economic front.

OR
Why was Congress reluctant to allow women on hold any position of authority
within the organization? How did women participate in Civil Disobedience
movement? Explain

e AT o & ANl Bt YNGR ¥ S8R Sfiaiad oY JE gof?
e A R 395 UHIG B IR B |
3Yar

HOG 67 » HiaR Afgarsi & R & e ff ug w3 & fom
aﬁ&rﬁwmﬁ%ﬁ?qﬁm&w&nﬁﬂ T wfgensit 3 B4 HnT o sars
¥ |

31

Describe the various technological and institutional reforms which led to the

green revolution in India.
OR
Mention the government of India’s efforts to modernize agriculture.

;-lol_gdﬁsl“ed wifd & fou fordeR fafid da-ie! 3R TRIFTT JURT &1 quH
|

3ryar
PN B MYFD T & [T URT WHR & YA BT Iwid PR

32

Suggest and explain any five ways to reform Political Parties in India.
OR
What are the characteristics of a political party?

YR H IoFifad gall § YUR & U &g urg adie g SR 0|
SYdr
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I & ! fARwde o ]2

33

How do SHGs act to provide a platform for women to address their various social
issues?

OR
“Cheap and affordable credit is crucial for the country’s development”- Analyse
this statement.

W geradl 9qg Afkarst & 3% fafts Imiie g & 4S9 d9 &
o te W9 UeM 3 & fiu Y 1 R €2
3ryar

T IR frwrd Hu 3w F e & fu deayf 37 - 39 FUF @
fogdwor &)

SECTION - E: Case Based Questions. (3x4=12)

34

Read the extract given below and answer the questions that follow:

Following the defeat of Napoleon in 1815, European governments were driven by a
spirit of conservatism. Conservatives believed that established traditional
institutions of state and society - like the monarchy, the Church, social hierarchies,
property, and the family — should be preserved. Most conservatives, however, did
not propose a return to the society of pre-revolutionary days. Rather, they realized,
from the changes initiated by Napoleon, that modernization could strengthen
traditional institutions like the monarchy. It could make the state’s power more
effective and stronger. A modern army, an efficient bureaucracy, a dynamic
economy, and the abolition of feudalism and serfdom could strengthen the
autocratic monarchies of Europe. In 1815, representatives of the European powers
who had collectively defeated Napoleon, met at Vienna to draw up a settlement for
Europe. The Congress was hosted by the Austrian Chancellor Duke Metternich. The
delegates drew up the Treaty of Vienna of 1815 with the object of undoing most of
the changes that had come about in Europe during the Napoleonic wars. The
Bourbon dynasty, which had been deposed during the French Revolution, was
restored to power, and France lost the territories it had annexed under Napoleon. A
series of states were set up on the boundaries of France to prevent French
expansion in the future.

4= fou U 3y & U 3R IYFH ¢ A I UM b IW <

18151 UG @1 8R & dlg, RWUN INRPR Ffgdlg &I Ha-1 § URka |
wfearedl &1 AT YT fF T 3R IO & UG IRURSG TR - o
ISR, o, Ao gergshd, Fufi 3R aRaR - o1 Wi fear st =nfeul
gTales, G Fieafedl 3 gd-wifdeRt fodf & gae & aroit &1 ua
Ta @1l i, I AUIA §RT & [T U gRad-l I A fbar &

Page 14 of 19




MYFDHIHRTT ASRATET oI TRURSG TR B Aolgd HR Tl g1 Tg Iod
@I Nfdd P 3fH THIET 3R Holgd o1 Tl &1 T YIS 1, TH HIA
TRRMe!, Th TR srfaraRyy 3R grHdarg 3R Rl &I SHaT WU &
PR STl B ASld HR Tl &l 1815H, TRIUT fgaar & wfaffr g
T U ¥ A0RET B & U, gAY S oY T GHIAT AR B
fore foom & i) R & a9er Sifeas IR €@ Hexd o &t
trl%ﬁfﬂu‘ffr 815ﬁﬁwm%wﬁmwmﬁmg@$
RY o &mwﬁaﬁﬁtﬁaﬁmwlw@?ﬁm & SR
feu T wamﬁwﬁamww@vmﬁﬁ%%wﬁq
U4 deo H oW U & & @l faan ufos # iR faaR & I &
fore i @t el R $3 ISAl Bt RGAT DT TS|

%%%

%

34.1 | What was the purpose behind convening the Congress of Vienna in 1815?
18151 fau1 &1 ST gaM & Ul R I U2
34.2 | What did conservatives focus on at the Congress of Vienna?
3 @ s ¥ wleafedl 7 fog R o disd fbar
34.3 | How did the Congress of Vienna ensure peace in Europe?
oo &t U9 7 Ru A wifa F¥ ghda o
35 | Read the extract given below and answer the questions that follow:

Today dams are built not just forirrigation but for electricity generation, water
supply for domestic and industrial uses, flood control, recreation, inland navigation
and fish breeding. Hence dams are now referred to as multipurpose projects where
the many uses of the impounded water are integrated with one another. For
example, inthe Sutlej—Beas River basin, the Bhakra—Nangal project water is being
used both for hydel power and production and irrigation. Similarly, the Hirakud
project in the Mahanadi basin integrates conservation of water with flood control.
Multipurpose projects, launched after independence with their integrated water
resources management approach, were thought of as the vehicle that would lead
the nation to development and progress, overcoming the handicap of its colonial
past. Jawaharlal Nehru proudly proclaimed the dam’s as “temples of modern
India”; the reason being that it would integrate development of agriculture and the
village economy with rapid industrialization and growth of the urban economy.

4= feu U 3y & U 3R ITPH T A I UM b IW <

3TN qiYy Hadt Riarg & forw 78 afewr fowrelt Iame, R 3R e Iuan
¥ o ora smufd, srg FAeEr, AAReH, Sfdcei Hided iR At ured & forg
§T S &1 3o aiel P 3@ Sg3eRiy uRaeHsl & wu # gefa foma
SIdT 8, S8l Afid ofd & Ps IYANT U g & 1Y Thipd 8id &1 Iaraul
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& foIe, gage-aa Adt dRF H, URaSI-ANTe URASHT & O &1 YN o
fagga ok Iared ok R aFf & forw fvan o @1 81 2t IRe, weHd
IRA § ER1bs URASHT SI¢ P & Y od WU B TBipd P! B
WdAdl & d1G 3 Tdhihd ofd JHIYT Jag BB &
Ig3eMy uRTSHISH & Th TH aigd Ol Sl T S o
AR Srcftd ®F Frensf & ¥ HR gU fadMN iR wWIfd &t SR o Se|
xﬂdlsmm gE A T4 ¥ qidf I esnyFe uRd & dfer aiftd far; g9t
T T f& g8 N SR umfiur srfogawn & fawmy &1 oot @
Wﬁﬁa@w%ﬁm%wumml

35.1 | Hirakud dam is built on which river?
ERIGS Sy by A IR &9/ T[T 82
35.2 | Name one multipurpose projects that is found in the Sutlej — Beas River basin?
FAAS-A Ac! SR T TS S aTeh U Sg 36,110 URIISHT &1 A1 Jd1gu?
35.3 | Give two reasons for the adverse effect of dams?
gielf & Ui d THTd & & HRUT Id1SU?
36 | Read the extract given below and answer the questions that follow:

In a democracy, we are most concerned with ensuring that people will have the right
to choose their rulers and people will have control over the rulers. Whenever
possible and necessary, citizens should be able to participate in decision making,
that affects them all. Therefore, the most basic outcome of democracy should be
that it produces a government that is accountable to the citizens, and responsive to
the needs and expectations of the citizens.

Some people think that democracy produces less effective government. It is, of
course, true that non-democratic rulers do not have to bother about deliberation in
assemblies or worry about majorities and public opinion. So, they can be very quick
and efficient in decision making and implementation. Democracy is based on the
idea of deliberation and negotiation. So, some delay is bound to take place.
Because it has followed procedures, its decisions may be both more acceptable to
the people and more effective.

Moreover, a citizen who wants to know if a decision was taken through the correct
procedures can find this out. She has the right and the means to examine the
process of decision making. This is known as transparency.

4= feu U 3y & U IR I T A I UM b IW <
diep #, 59 F8 AR R & fom Je oifte o § 6 A &1 e

WHﬁHﬁUWW%IWGWMWHQHWW%@W
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aMeY % U8 U Tl WRBR &1 FH0 B o ARIRST & Ufd SIaeeg ol 3R
TRIRDT BT TRl R suenst & ufd ITRert gl

$3 A AEd § & diedd H gUTa WHR 4911 ¢1 [A:3ds, 98 99 & f&
R-dpdide UMDl I fAurgurst # far-faus &1 a1 sgad SR 9
&I fidr A P TRexd el §1 39, 4 g o9 3R wrataeE § §gd oo
3R FA B Thd &1 Aidhaa [ar-fanet SR arddid & foar W enerlka g1

3R 3if¥ gHEt S 8 Ioha

gqdb (AT, S ARG Ig ST I18dl § fb o1 s Aol a8t ufparet &
weH O foram T U, 98 39GT Udl O Thdl g1 I9b U g o &
m%ﬁaﬁmﬁm&meﬁwmm%@qmm&wﬁw
ST gl

36.1

What is meant by transparency in a democracy?

dipad H URGRIAT &1 &1 Adad 82

36.2

Why are non-democratic governments quick in decision making and
implementation?

R-dlediAe WeR Aoy a9 3R sra-aad § <aRd & gidt 22

36.3

“In comparison to non-democratic governments, decision of democratic
government takes time”. Does democracy pay its price explain.

"TR-AIGdIRAS BRI B Ja |, Abdid WHR & [Aulg § T T«
2" T AHdd D! S AT §, WY B

SECTION - F: MAP BASED QUESTIONS_ (2+3=5)

37a

Two places (A) and (B) have been marked on the given political outline map of
India.

Identify them with the help of given information and write their correct names on
the lines drawn near them.

(A) The place where Mahatma Gandhi started Satyagraha for Indigo peasants.
(B) The place where the session of Indian National Congress was held in
December 1920.

YR P QT T IST-ifaes a1 A UR & ®IM (A) 3R (B) 3ifdhd fpumu el s
%%cmé‘l P! TETAT T I8 UgdH 3R I UTg Wi 718 X@13i iR 39 Il 1H
|
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(A) T8 R STgT HeTHT el = A1 fami o o7t TATIg Y& [ o |
(B) I8 I OIg] [GHaR, 1920 H HRAT AP H1UY BT STAAI gl ATl

On the same outline map of India locate and lable any three of the following with
suitable symbols.

(i) Nagarjun Sagar Dam (ii) Narora Nuclear Power Plant
(iii) Neyveli Coal mines (iv) Pune software technology park

YRd & I X1 AFRA R FEfiad # @ fol i o1 Iuged udie! 9
fafed B3 8fR b1 el TR

(i) AT PR §rY (i) RIRT URATY] STl G
(iii) Ade I WeH  (iv) IO AieddR Uit Ui
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INDIA

OUTLINE MAP WITH STATES
& UNION TERRITORIES
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